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This Question Paper consists of 32 questions and 8 printed pages.
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Candidate must write his/her Roll Number on the first page of the Question Paper. ,
Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the

questions are in sequential order.
Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the

specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 59/055/2, Set— on the Answer-Book.

(a)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

" one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b}  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.

97 :
&Nl W9T-U= % UEH YIS UT 9T HFHi% A o | :
FUAT U-TF B 19 A 6 G50 F P gt a1 Wy A Ia & dear ¥ et waw g F gad s ot
Tigmaadma i A S ur phm e H ¥ |
sa-gftaar ¥ geam-fas a7 o i et & afafea w8 9 s e o wliendt #t e
SETAT AR |
ST TE-GRe T R ) A Her 59/08S/2, we-|A] frd |
(&) mﬁﬁ?ﬁ&ﬁgﬁgmmmﬁ%uﬁmﬁ%ﬁ%ﬁﬁ%wﬁmﬁmtz
arafiyar, v, Heid, @ et fdr
Al SAL- FRumaaad e o e awd s e ¥
(@) afx ey Rl ud e % efifem el smr o # Sa fred ¥ @ we @ wwe A o Al
et | el i RaeETdl Haw sae B | :
1 EE

fﬁﬁ?{ [ Contd...

Scanned by CamScanner



ECONOMICS

e
(318)

Time : 3 Hours] [Maximum Marks : 100
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Note : (i)  All questions are compulsory.
(i) Marks allotted to each question are indicated against it,
(1) Each question from Question Nos. I 1o 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Select the correct
answer among the four alternatives and write it in your answer-book against

the number of the question. No extra time is allotted for attempting multiple
choice questions.
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1 The value that divides the series into two parts is called ....... 1
(A) Median (B) Mode
(C) Quartile Deviation (D) Arithmetic average
goft &Y & A § A AW G B AE BEd § ...
(A) wftmar (B) e
(C) =gd® (D) st wreg
2  The value of coefficient of correlation varies from ....... 1
(A) 0 to 1 (B) 1 to -1
(C) 0 to -1 (D) 1 to infinity
geqaYy YOe B I ...
(A) 0@ | @b & waar. & | B) 1 & -1 a& & g&dar ¥ |
(C) OF-1TdE R awa & 1° (D) | & o o& & Wehel ¥ |
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3 Growth of resources results in ...... ‘ 1
(A) downward movement along production possibility curve.
(B) rightward shift of production possibility curve.
(C) upward movement along production possibility curve.
(D) leftward shift of production possibility curve.
g A WIS e uroL
(A) Eﬂﬁqmaﬁ%aﬁaﬂtaﬂﬁﬁl
(B) SWET WWET a% T4 ofiv flags @t &
(C) SUET VWA 9% HUT &) ok W ¥ |
(D) TR WWET 9% 9l ofk fage ol ® o
4  Marginal utility can never be ........ | 1
(A) zero '
(B) equal to total utility
(C) pgreater than total utility
(D) negative
W I &y
(A) s <& 8 "Wadr |
(B) PW IWEINEI & wEy 4% & THa |
(C) Z« Swifar ¥ afts =& & st |
(D) =om® el & gadr |
5  Average cost and average variable cost are Rs. 60 and Rs. 40 respectively 1
when 5 units of a good are produced. What is the average fixed cost
when 4 units are produced ?.
(A) Rs. 100 (B) Rs. 50
(C) Rs. 25 (D) Rs. 20 |
TH TG B 5 IHEAT ST B BT AEd @ A ofga aiEdt @ wEan
T. 60 3l 6. 40 ¥ | 4 THE T FE W ohga Rax @ feaer @t 7
(A) % 100 (B) . 50
© % 25 - (D) . 20
6 Demand curve of a firm is perfectly elastic under : 1
(A) Perfect competition (B) Monopoly
. (C) Oligopoly (D) Monopolistic competition
s W H A G Uiadl wEEl R § ;
(A) oo gt & (B) uHlusR o
(C) i@ ¥ (D) umiiueraees whaifar &
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7 An economy’s gross domestic produet at factor cost is Rs. 8,000 crores 1
and its gross national product at factor cost is Rs. 7,000 crores, Then
net faclgy income to abroad is ...
(A) R$~15,000 crores (B) Rs. 1,000 crore
(C) - Rs. 1,000 crores (D) None of the above
UF U T GO W wh aye e 5 8,000 w0 b oot @rem
W W W M T9E 5. 7,000 w0y k) faded @ fraw wee oo ¥ o

(A) B.115,000 =g (B) % 1,000 &0s
(C) -%;1,000 Firg (D) sutem & 4 w8 7
v
8  Which E‘;ﬂ the following is not a flow ? ' 1
(A) Expenditure (B) Money supply
() Nl(:_’tjipnal income. (D) Sales
ﬁfﬁlﬁfiﬁﬁlﬂf‘ﬁ ¥ B-a1 yaw T ¥ 7
(A) =it . (B) a1 e
(©) e amm (D) fhy
9  Which 'of the following can have a value greater than one ? 1

(A) mfgginal propensity 10 consume
(B) average propensity to consume
(C) mﬁ_}’gina] propensity to save
(D) all of the above
4 few & e | & ofus &) wwar ¥ 7
(A) i s Sghy
(B) &g s wgf
(C) dmwra T=a wgfa

©) g wh
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10 Primaryc;deﬁcil is equal to ..... 1
(A) REyknue deficit + Interest payment
(B) Fiscal deficit + Interest payment
(C) Borrowings — Interest payment
(D) Total expenditure — Interest payment
wufies AT FUE B % ...
(A) Twi@ °9RT + @ P &
(B) TG 9121 + & YN %
(C) #9 — & YIaE &
(D) Fa =4 - @ YA &
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11 Explain the problem of ‘What to produce’.

3
T A B B G AR |
12 State the difference between micro &fonomics and macro economics. 3
aﬁzaefsnﬁmﬂqﬁza&am%ﬂ%wmq |
. : 3
13 Explain the meaning of : i 3
(a) Budget line and  (b) Budget;§t.
(&) == @ &K @) @z ¥ o wwEmEy |
' . L
14 Explain the meaning of excess supply with the help of a schedule. 3
wmﬁmﬁmmﬁﬁrwm :
¢
15 Explain the “no.to entry” feature of“monopoly market. 3
qmrﬂ:mwa%‘r “gagt H ewmEe %ﬁwm |
16 Give the meaning of real and nomlit_lgtl gross domestic product. 3
It ofR Hfew e Ui SER ﬂic__{ﬂ?f TRy |
17 Define "investment multiplier". What can be its maximum and 3
minimum value ?
“Rrarer T’ @1 afaT S lmmmwwwﬁm% ?
(&3
5y
18 Describe the measure of value funclign of money. 3
a1 % Hed B ANA B B qUA B |
.
o _
19 State any three characteristics of indék numbers. 3
- gEEsl B B dF g sdqEg lfﬂ
20 What is meant by absolute and relative measures of dispersion ? 3

arafeter @ Frde ok e 7 & ord Sasy |

21 The price elasticity of demand of a commodity X is (=) 1.5. If its price 4
falls by 10 percent, what change will take place in its demand ? Calculate.

ag X @ A @ dEd | (o) 1.5 ¥ | g sEer ®ma 10 giaem ge 9w,
dar gger AT A @ ufedE ' ? gfieew @iy |
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